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Guess Paper – 2012
Class – XII
 Subject –    Economics 
1. Name the expression that defines the quantitative relation between change in inputs and the resultant change in output.  1

2. Define Input.










1

3. How is TPP derived from MPP schedule?






1

4. What is the general shape of APP curve?






1

5. When MPP is falling and is positive at what rate TPP is changing?




1

6. When APP rises, what is the relation between MPP and TPP?




1

7. Give the meaning of increasing returns to factor.






1

8. What does the division of labour mean?






1

9. Distinguish between a) 1Fixed and Variable factors b) Short Period and Long Period.  
     2+2=4

10. Draw TPP curve based on short run production function and comment on its shape.   

3

11. When there are diminishing returns to a factor, TPP always decreases. Is it true? Explain.

3

12. Explain the reasons for increasing returns to factor. What factors contributes to the end of this stage?
4

13. Explain briefly the returns to a factor by giving a numerical example.



6

14. Define Cost Function.









1

15. Define variable cost. Give two examples of this cost.





3

16. What is meant by MC? 








1

17. How is TVC derived from MC schedule?







1

18. What is the general shape of AVC curve?






1

19. What happens to ATC and AFC when MC is equal to AC? Give reasons for the behaviour of ATC and AFC.
3

20. Can there be fixed costs in the short run? Why/why not?





1

21. What are implicit costs? Give two examples.






1

22. Explain the relationship between AVC and AC with the help of a schedule giving reasons behind each stage.
4

23. Distinguish between the relationship between TR and MR for a perfectly competitive and an imperfectly competitive firm.(4)
24. Define MR.











1

25. Why is TR curve facing a competitive firm a straight line passing through the origin? Explain with a diagram.
3

26. What change in TR will result in a decrease in MR?






1

27. When does MR curve fall below AR curve?







1

28. What is the effect of increasing TR at a decreasing rate on MR and AR?




1

29. How is TR estimated?










1

30. Do fixed costs affect MC? Why?








3

31. Explain whether MC can increase when AC decreases?






3

32. What is meant by the Break Even Point? Give a numerical example.




3

33. Does a firm get supernormal profit at break Even Point? Give reason.




3

34. Prove with an example that AR is equal to price?







3

35. Explain why MR=MC is the profit maximization principle of a firm in general? Is it sufficient condition for a perfectly competitive firm? Give reason.









4

36. Does a producer always stop producing a commodity when production means losses to him? Give reason.
6 

37. Will a producer increase his profit by increasing production when his MC is greater than his MR? Explain.
6

38. What is the general profit maximizing principle of a competitive firm? Explain it with the help of a schedule.
6

39. At a particular level of output, a producer’s MC is greater than MR. What should he do to maximize his profit?
3

40. What is the relation between price line and TR?







1

41. What is the relation between TVC and MC?







1

42. At a price of Rs. 5per unit of a commodity, TR is Rs. 800. When its price rises by 20%, TR rises by Rs. 400. Calculate its price elasticity of Supply. Is it elastic? Give reasons.







4

43.The price of a commodity is Rs. 10 per unit and its quantity supplied at this price is 500 units. If its price falls by 10 per cent and                          quantity supplied falls to 400 units, calculate its price elasticity of supply




 3
43. Complete  the following table







24x1/4= 6
Q

TC

TFC

TVC

AFC

AVC

MC

1

80

----

----

----

----

20

2

----

----

----

----

----

20

3

111

----
----
----

----

----
4

----

----
----
56

----

----

5

----

----
----
70

----

----

44. Complete  the following table







12x ¼= 3
Units of Labour

TPP

MPP

APP
1 18

----

----
2 ----        

22

----
3  ----

----

22

4 90

----

----
5  ----

18

----
6  ----

----

10

45. Suppose that a firm incurs Rsa.100 on the non variable inputs and the MC schedule is the following.
OUTPUT
MC

1. 10

2. 20

3. 30

4. 40

5. 50

6. 60

7. 70

a) Is the MC curve U shaped? b)Derive the AVC schedule. Will the AVC curve be U shaped? Why/ why not?
4


3

46. Complete  the following table






25 x1/4=  6
Q

TC

TVC

AFC

AVC

ATC

MC

0

180

----
----
----
----
----

1

----

120
----
----
----
----

2

----

----

90
----
----
----

3

----

----

----

110
----
----
4

----

----

----

----

180
----
46. Complete  the following table.






24x1/4= 6

Q

TC

TVC

AVC

ATC

MC

1

90

----
30
----
----
2

----

----

----
50
----



3

----

----

----

----
----


4

115

----

----

----

10


5

----

----

----

----

----

6.

----

----

20

----
20
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